
9 boxes contained a total of 720 candles, evenly split
throughout the boxes. 4 boxes were shipped to one
store and 5 more - to another. How many candles did
each store receive?

Create a problem, such that its solution could be
found by setting up the expression: 30 - (30 + 24)     4

Solve Me!
Show your work and include

the "therefore" statement

Fill in the missing digits and check

There are 276 birch trees in the park, which is 48 less
than maple trees. What is the total number of trees in
the park?

320 and 400
600
2, 6, 3
Answers may vary

Answers
1.
2.
3.
4.
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